1.

Evaluate/simplify these expressions and place the letter corresponding to each one on the number line
below. (Place a dot on the munber line and the letter above it, as shown in the example.} If the number does
not simplify to some defined value, t.e., it is undefined, then just state that and you will not be able to
plot that on the number line. Also filt in the table telling the smallest set the number belongs to. Choose
from these number sets: R = real numbers, Q = rational numbers, [ = irrational numbers, Z = integers,

W = whole numbers.
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3. Using 3x7 - 2x+ 4 =0, fill in an example of each of these questions to practice vour understanding of

the vocabulary words. (For instance, if

[asked for “degree,” vou'd say 3 is the degree.)

VOCABULARY WORD EXAMPLE
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4. Use the order of operations to evaluate
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5. Evaluate these power (exponent) expressions.
URTE V£ SRR TR SR
() 64* ~ (LT > lf H‘? (dy 647 = iy
3 ’ i:L ks o s 3 Fy
o | et =
o) 6470 T e fi (-64) = —
(0 6 v (t) (—64)

26g)ty Akt

%:&.M&QQQQUQQOOQOQ&QQQn&ﬁnﬁnannnunmn-.gnm.....-....L



— e e e W WIS TERT W W WY WER W W W W W W W W W O W Er s e 8 e O

O,

-

REVIEW ASSIGNMENT

Stmplify, by rationalizing the denominator.
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Simplify and write each expression with positive, rational exponients.
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(Hirtt: Rewrite this as 2 to some power.)
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